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The slope of the tangent line is equal to the slope of the secant line through a and b. 
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Does the Mean Value Theorem apply for the given interval?  If so, calculate the value(s) of c.  If not, state the reason why.  
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Max-Min Existence Theorem:

If a function is continuous on a closed interval [a, b], then the function will have both a maximum value and a minimum value.

State whether or not the Max/Min Existence Theorem applies.  If it does, find the maximum and minimum values for each function on the given interval.  
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The slope of the tangent line is equal to the slope of the secant line through a and b. 
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Does the Mean Value Theorem apply for the given interval?  If so, calculate the value(s) of c.  If not, state the reason why.  
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Max-Min Existence Theorem:

If a function is continuous on a closed interval [a, b], then the function will have both a maximum value and a minimum value.

State whether or not the Max/Min Existence Theorem applies.  If it does, find the maximum and minimum values for each function on the given interval.  
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